GOA BOARD OF SECONDARY AND HIGHER SECONDARY EDUCATION
ALTO BETIM — GOA 403 521.

Class : IX
Subject : Mathematics

(a) To distribute the topics for 1* and 2™ Term and their weightage for class IX.

(b) For the summative (Terminal Exam) Questlon paper of class IX under the common
pattern which follows: +

The weightage or the distribution of marks over different dimensions of the question paper shall be as

follows:

1. Weightage to Learning Outcomes

S.No. Learning Outcomes Marks Percentage of Marks
1 Knowledge 16 T 20%
2 Understanding 16 20 %
3 Application 32 40 %
4 Skill 16 20 %
Total : 80 100 %

2.Weightage to Content / Subject Units

Chapter No. Name of Chapter Marks
Section A
4 Linear Equations in Two variables 10 mks}
14 Statistics 16 mks} 32 mks
15 Probability : 06 mks}
Core content of first term
1. Number System(irrational numbers, decimal 3mks}
representation ) 8mks
2 Polynomials(Remainder theorem, factorisation , Smks}
algebraic identities)
| Total 40 mks
Section B
9 Areas of Parallelograms and Triangles 6 mks}
10 Circles 8 mks} 32 mks
12 Heron's Formula : 6 mks}
13 Surface Areas and Volumes | 12 mks}
Core content of first term :
Lines and angles(Types of angles, pair of angles ) 2mks}
7 Triangles(Congruence of triangles) 3 mks} 8 mks
11 Constructions( Constructions of triangles ) 3 mks}
Total 40 mks

TOTAL Sec A &Sec B 80 MARKS




3.Weightage to Forms of Questions

S.No. | Form of Questions Marks for each | Number of | Total
question questions Marks
1. Long Answer Type (LA) 03 14 42
2. Short Answer Type ( SA -11) 02 14 - 28
3. Short Answer Type (SA —1) 01 03 03
4 Very Short Answer Type (VSA) 01 07 07
' 80
Total

The expected time for different types of question would be as follows:

S.No | Form of Questions Approx. time | Number of | Approx. time for
for each questions | each form of
Question in () Questions in mins
mins (t) (nxt)

1. Long Answer Type (LA) 06 14 84

2. Short Answer Type (SA-II) 04 14 56

3. Short Answer type (SA-I) 01 03 03

4 Very Short Answer type(VSA) 01 07 07

Total | 150 min (21/2 hrs)

As the total time is calculated on the basis of the number of questions required to be answered and
the length of their anticipated answers, it would, therefore, be advisable for the candidates to budget
their time properly by cutting out the superfluous words and be within the expected time limits.

4. Scheme of Options
( There will be no overall choice. However, there may be an internal choice)

5. Weightage to difficulty level of questions:

- Sr. Estimated difficulty level of Marks Percentage
No. questions
1. Easy 10 12.5%
2. Average 38 47.5%
3. Difficulty 32 40%
Total 80 100%

A question may vary in difficulty level from individual to individual. As such, the assessment in
respect of each question will be made by the paper setter on the basis of general anticipation from
the group as a whole taking the examination. This provision is only to make the paper balanced in

weightage, rather than to determine the pattern of marking at any stage.

6. Number of Main Questions :

There will be 8 main questions, each main question of 10 mark.
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Class : IX
Time : 21/2 hrs

DESIGN OF THE QUESTION PAPER

Subject : Mathematics

(FIRST TERM EXAMINATION)

Max.Marks : 80 marks .

The weightage or the distribution of marks over different dimensions of the question papér shall be as

follows:

1. Weightage to Learning Qutcomes

¢

S.No. Learning Outcomes Marks Percentage of Marks
1 Knowledge . 16 20 %
2 Understanding 16 20 %
3 Application 32 40 %
4 Skill ' 16 20 %
Total : 80 100 %
2. Weightage to Content / Subject Units
Chpt Name of the chapter Marks
No.
Section A
NUMBER SYSTEM 12
2. POLYNOMIALS 20
3. COORDINATE GEOMETRY 08
Section B
S. INTRODUCTION TO EUCLID'S GEOMETRY 03
6. LINES AND ANGLES 09
7. TRIANGLES 10
8. QUADRILATERALS 09
11. CONSTRUCTIONS 09
Total 80
3. Weightage to Forms of Questions
S.No. | Form of Questions Marks for each Number of Total
question questions Marks
1. Long Answer Type (LA) 03/04 06/03 30
2. Short Answer Type ( SA-1) : 01 14 14
3. Short Answer Type (SA—1I) 02 11 22
4 Very Short Answer Type (VSA) 01 14 14
' Total 80
The expected time for different types of question would be as follows:
S.No Form of Questions Approx. time Number of Approx. time for
for each questions (n) each form of
Question in Questions in mins
mins (t) (nxt)
1. Long Answer Type (LA) 06/08 06/03 60
2. Short Answer Type (SA-I) 02 14 28
3. Short Answer type (SA-IT) 04 11 44
4 Very Short Answer type(VSA) 01 14 14
Total :

146 (21/2 hrs)
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As the total time is calculated on the basis of the number of questions required to be answered and
the length of their anticipated answers, it would, therefore, be advisable for the candidates to budget
~ their time properly by cutting out the superfluous words and be within the expected time limits.

4. Scheme of Option.
( There will be no overall choice. However, there may be an internal choice)

5. Weightage to Difficulty level of questions: "
Sr. Estimated difficulty level of Marks , Percentage
No. ' questions -
1. Easy 14 17.5%
2. Average 40 50.0%
3. Difficulty 26 32.5%
Total 80 100%

A question may vary in difficulty level from individual to individual. As such, the assessment in
respect of each question will be made by the paper setter on the basis of general anticipation from
the group as a whole, taking the examination. This provision is only to make the paper balanced in
weightage, rather than to determine the pattern of marking at any stage.

6. Number of Main Questions :

There will be 8 main questions, each main question of 10 mark.
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Lo 7% " DESIGN OF THE QUESTION PAPER
“Class : IX (FIRST MID TERM TEST)
Time : 1 hr Subject : Mathematics

Max.Marks : 20 marks

The weightage or the distribution of marks over different dimensions of the question paper shall be as

follows: -
1. Weightage to Learning Qutcomes

S.No. Learning Outcomes Marks Percentage of Marks
1 Knowledge 04 20 %
2 Understanding 04 20 %
3 Application 08 40 %
4 Skill 04 20 %
Total : 20 100 %
2.Weightage to Content / Subject Units
Chpt Name of the chapter Marks
No.
Section A
1. Number System 06
3. Coordinate Geometry 04
Section B
5. Introduction to Euclid's Geometry 02
6. Lines and angles 08
Total 20
3. Weightage to Forms of Questions ,
S.No. | Form of Questions Marks for each Number of Total
question questions Marks
1. Long Answer Type (LA)
2. Short Answer Type ( SA-1)
3. Short Answer Type (SA—1I)
4 Very Short Answer Type (VSA)
The expected time for different types of question would be as follows:
S.No Form of Questions Approx. time Number of Approx, time for
for each questions (n) each form of
Question in Questions in mins
) mins (t) (nxt)
1. Long Answer Type (LA)
2. Short Answer Type (SA-D
3. Short Answer type (SA-I)
4 Very Short Answer type(VSA)
Total :




As the total time is calculated on the basis of the number of questions required to be answered and
the length of their anticipated answers, it would, therefore, be advisable for the candidates to budget
their time properly by cutting out the superfluous words and be within the expected time limits.

4. Scheme of Options :
" ( There will be no overall choice. However, there may be an internal choice)

5. Weightage to Difficulty level of questions:

¢

Sr. Estimated difficulty level of Marks Percentage
No. questions '

1. ] Easy

2. Average

3. Difficulty

A question may vary in difficulty level from individual to individual. As such, the assessment in
respect of each question will be made by the paper setter on the basis of general anticipation from
the group as a whole taking the examination. This provision is only to make the paper balanced in
its weightage, rather than to determine the pattern of marking at any stage.

6. Number of Main Questions :

There will be 2 main questions, each main question of 10 mark.




DESIGN OF THE QUESTION PAPER

Class : IX (I nd MID TERM TEST)

Time : 1 hr Subject : Mathematics

Max.Marks : 20 marks

The weightage or the distribution of marks over different dimensions of the question paper shall be as

follows:
1. Weightage to Learning Outcomes

¢

S.No. Learning Outcomes Marks Percentage of Marks
1 Knowledge 04 20 %
2 Understanding 04 20 %
3 Application 08 40 %
4 Skill 04 20 %
Total : 20 100 %
2. 'Weightage to Content / Subject Units
Chpt Name of the chapter Marks
No. .
SECTION A
4. Linear Equation in two variable 06
15. Probability 04
SECTION B
9. Area of parallelograms and triangles 05
12 Heron's formula 05
Total 20
3. Weightage to Forms of Questions
S.No. | Form of Questions Marks for each Number of Total
question questions Marks
1. Long Answer Type (LA)
2. Short Answer Type ( SA -1)
3. Short Answer Type (SA—1D)
4 Very Short Answer Type (VSA)
The expected time for different types of question would be as follows:
SNo | Form of Questions Approx. time Number of Approx. time for
for each questions (n) each form of
Question in Questions in mins
mins (1) (nxt)
1. Long Answer Type (LA)
2. Short Answer Type (SA-)
3. Short Answer type (SA-IT)
4 Very Short Answer type(VSA)

Total :




As the total time is calculated on the basis of the number of questions required to be answered and
the length of their anticipated answers, it would, therefore, be advisable for the candidates to budget
their time properly by cutting out the superfluous words and be within the expected time limits.

4. Scheme of Options '
( There will be no overall choice. However, there may be an internal choice)

5. Weightage to Difficulty level of questions:

4

Sr. Estimated difficulty level of Marks Percentage -
No. _____questions | '

1. Easy

2. Average

3. ' Difficulty

A question may vary in difficulty level from individual to individual. As such, the assessment in
respect of each question will be made by the paper setter on the basis of general anticipation from -
the group as a whole taking the examination. This provision is only to make the paper balanced in
its weightage, rather than to determine the pattern of marking at any stage.

6. Number of Main Questions :

There will be 2 main questions, each main question of 10 mark.
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FIRST TERMINAL EXAMINATION — 87D IX
SUB: MATHEMATICS MARKS: 80 TIME: 2% Hrs

Q 1. A] Select and write the most appropriate alternative from those given in the brackets. —(1)
The only irrational number of the following is

[%, V225, V75, 0.72]

4

B] Attempt the following. ' | —(2)
2— .
(i) Find the value of: (125)8

(ii) Express E in the decimal form.

C] Represent v/3 on a number line. } —(3)
D] (i) Express 0.27 in the form 2 where p and q are integers, g # 0 _ —(2)
& (ii) Simplify: (V3 +/7 )2 —2)

Q2. A] Select and write the most appropriate alternative from those given in the brackets. —(1)
The degree of the polynomial 7x° — 2x°> + 9 is

["21 3) 51 9]
B] Evaluate using suitable identity ' . ’ -—(2)
(i) 97 x 103 ' '
B] Attempt the following. —(3)

(i) Find the value of polynomial 4x*—9x+ 2 at x=-3
(ii) Verify whether y = 2 is a zero of the polynomial 3y +7

(iii) Expand using suitable identity: (3x + 2y ) (3x—2y )

D] (i) Factorise: 3x* + 10x + 8 ( by splitting the middle term) —(2)
(ii) Find the value of ‘k’ if (x — 1) is a factor of 253 —5x* + 8x + k —(2)

Q 3. A] Select and write the most appropriate alternative from those given in the brackets. —(1)
The point that lies in quadrant IV is
[ (OI 4)1 (31 5)1 (—11 4)1 (3) _5) ]

B] Rationalise the denominator of the following. —(2)
10

-3




: =~ q (i) Write the abscissa of the point A (5, -7)

(if) Write the coordinates of the origin.

(i) What is the distance of point (-4, 6) from‘g—-axis?

D] (i)On the graph paper provided to you, using a suitable scale plot the following

points.

A(_ZI _5)/ B(3) O)I C(-SI 4)) D(O) 2)

(ii) With reference to the following graph, answer the questions given below.
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(ii

(iv

(i) Write the ordinate of point D
i) Write the abscissa of point N

Write the coordinates of point Z

(iii) Write the point whose coordinates are (-5, 5)
)

."
Y 4

Lkl
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Q4. A] Select and write the most appropriate alternative from those given in the brackets. —(1)
- The coefficient of x* termin 4x - x> +5x* is
[ —11 1) O/ 4 ]

B] Using remainder theorem find the remainder when the polynomial 4x® — 3x* + 2x + 1
is djvided by x—1 ’ -(2)

C] Attempt the following. _ ‘ —(3)
(i) Factorise: a®> + 27b® + 9a’b '+ 27ab”
(i) Expand: (2a—b +c)?

D] Divide the polynomial P(x) = 2x> + 9x* + x— 15 by g(x) = 2x + 3 and find the quotient

and remainder. Hence write your answer in the form: .
Dividend = Divisor x Quotient + Remainder —(4)

Q5. A] Select and write Ehe(most appropriate alternative from those given in the brackets. —(1)
tnels

)]
o The number of linggthat can pass through two distinct points is
[ One, Two, Three, Infinite ]

-~

B] In the figure given below if PS = QR then Prove that PR = QS —(2)
| . Q
R/—é‘/
P

C] In the figure given below AOB is a line. Ray OP L line AB. Another ray OQ lies
between rays OA and OP

1
Prove that: £ POQ = > (£ BOQ-ZA0Q) —(3)
_ P
Q
~~
- nl .
A o B

D] (i) Given: Line AB and line CD intersect at point O.
Prove that: £ AOC= . DOB —(2)




1
A

(ii) In the figure given below BE L. AC, £ EBC = 40°, £ ADC = 85" -(2)
) Find: (a) £ ACB
(b) £ CAD

Q6. A] Select and write the most appropriate alternative from those given in the brackets.

In A ABC, AB=ACand £ A=80°then £/ C=
[ 10° 40° 50°, 100° ]

B] Using a pair of compasées and a ruler construct £ XYZ = 75°
C] Construct A PQR in which £ Q=60°, QR=7.5cmand PQ+ QR =12 cm. —(3)
D] Construct A PBM in which £ B=30° £ M=90°and PB+ BM + PM = 13 cm.

Q7. A] Select and write the most appropriate alternative from those given in the brackets. —(1)
The angles of a quadrilateral are in the ratio 3:4:5:6, then the measure of the

smallest angle is °

[ 15, 30, 60, 90 ]
B] Given: ABCD is a parallelogram. AM and CN are perpendiculars drawn from vertices

A and C on diagonal BD.

Show that: A AMD = A CNB —(2)

A

3
et 1

L
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‘C] Given: PQR is a triangle right angled at Q. A line drawn through the midpoint B of

hypotenuse PR and parallel to QR intersects at A.
1
Show that: BQ=EPR . —(3)

P
|

Q SR

D] (i) In A LMN, MR is perpendicular bisector of LN. State the test by which A LMR and
A NMR are congruent. —(1)

M

(ii) In parallelogram ABCD bisectors of £ A and £ B intersect at P.

Prove that: m £ APB =90° —(3)
D S ¢

Q 8. A] ABC is a triangle such that £ A =50° and £ C = 60°. Name the longest side of the

triangle. -(1)

B] In the adjoining figure £ B =40°and AD || EF, £ FEB = Bs”
Find: (i) £ BCD .
- (i) £ BAC —(2)



C] In the adjoining figure, AB L. BCatBand AD L CD atD,BA= AD

e

C
With reference to the figure answer the following questions. —(3)

(i) Why is £ ABC = £ ADC ?
(i) Name the side common to A ABCand A ADC.

(iii) State the rule by which the above two triangles are congruent.

D] In the adjoining figure ABCD is a quadrilateral in which AB = AD and BC=DC.
Prove that: (i) AC bisects £ A
(i) BE=ED _ —(4)

END s==z=====ss
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Evaluation Scheme for Mathematics (Std IX) 2015-2016 onwards

1* Mid Test — Theory (1 hour) (20 Marks)
1¥ Term —Theory  (21/2 hours) (80 marks)
1* Term — Internal Assessment (20 marks) ,

Le. (1) * Assignment (10 marks)
(i) Class Response (05 marks)

(iii) Note Books (05 marks)

1% Term (120 marks)
2" Mid Test — Theory (1 hour) (20 marks)
2" Term — Theory (21/2 hours) (80 marks)
2™ Term Internal Assessment (20 marks)

Le. (i) ** Project (group-wise) (10 marks)
(i1) Class Response (05 marks)

(iii) . Note Books (05 marks)

2" Term (120 marks)

1% Term + 2™ Term = Grand Total = (240 marks)

Note * Criteria for Evaluation of Assignment (10 marks) (_e.g. Chapter 6. Lines & Angles)

1. Preparation (Neatness, Material used) (2 marks)
2. Subject Matter (2 marks)
3. Presentation / Explanation (2 marks)
4. Creativity (2 marks)
5. Oral (Viva) (2 marks)
(10 marks)

Note: The information about the assignment should be handwritten and printouts should not be
accepted.
(‘Pictures allowed, diagrams preferred)

(P.T.0)
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** Criteria for Evaluation of Projects (10 marks) (e.g. Chapter 13. Surface Area & Volume)

1)
2)
3)
4)
5)

Note: (1) Ready made Projects should not be accepted.

Presentation and neatness

Creativity of the activity

Report Writing

Individual Knowledge of child on project
Orals

(2 marks)
(2 marks)
(2 marks)
(2 marks)
(2 marks)

4

(10 marks)

2) Only Environment friendly materials should be used for projects.

N.B.:- (Schools are free to choose the Assignment / Projects as per the level of the school)



